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sS4t 20,591,048 23,581,711 A 2,990,663
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Xl 90,000
J| 902,399
< 1,873,718
Al 11,571,602
STANHFN L SEALSH Y 12,408,268 10,152, 145 2,256,123
= 4,967,724
< 897,886
Al 6,542,658
NEE A Mak X 7,209,099 7,061,288 147,811
= 3,965,439
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Al 20,625
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Al 20,625
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Al 20,625
Jlsd & THHHE X =4 3,000 1,800 1,200
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= 6,000
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OLsg A=H X A 20U 6,000
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01 XML 22 FF S| 10,000 93,000 A 83,000
OLU=s21H 8 27 7Y 10,000
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= 3,000
& 9,518
Al 32,482
01 XAt 2 ZF S| 45,000 63,000 A 18,000
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OA&ZEHl S X bl 39,840
- EAHE SR XL 20,000
- HEI M ® AS
120,000& =« 3200 13 3,840
- A A (22 g 2E) 5,000
—SIHLYUAMSE HES 11,000
202 O4dl 9,000 9,000 0
01 SLHAYI 9,000 9,000 0
O2Z AH#HR FANH| 3,000
OsZANM & s RFAAHYI 6,000
203 B R =&l 13,000 13,000 0
03 AIMF=XH R =AH| 13,000 13,000 0
O=ZAM HR=ZH 10,000
O&d=sd =& HRFAHl 3,000
307 Qi2tol & 18,600 8,600 10,000
02 IS AHE L 10,000 0 10,000
Osg=ZgXl& 10,000




SH ==
M sMAMEN U SEASH N
ool SHAME CER-ED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
04 RIZFHALALH 2 = 8,600 8,600 0
OZallAI2ZI I EMdts 2UII =H 6,000
O=sdeoldlis sotgdsual &t 2,600
310 2201 & 100 100 0
02 2HRE= 100 100 0
O=H FAORE =2 100
401 Al HIZ 201 8] 839, 140 690,000 149, 140
01 A& HI 839, 140 690,000 149, 140
O=sgJl=4H HAF HES 37,140
- AW 2 =IO &X1 590,000 * 4604 27,140
—EHA ST 10,000
OS2II=ME BA PENS U 21228 &
Al 30,000
Osgllasdd =X&EXZd AALAHH 22,000
sgllsdy =X =24 750,000
—AZSANEIZ 0ld EX e 750,000
= X2l 1,000 1,000 0
202 Oddl 1,000 1,000 0
01 = LH 4 Hi 1,000 1,000 0
OsXegd? Az =50l 1,000
sX0l82cl ZAHE el 24,450 24,450 0
= 22,885
Al 1,565
101 1Al 21,320 21,320 0
= 21,320
04 JIZtHZ22 s+ 21,320 21,320 0
OsXolg2e =Ad =0 21,320
_=o 13,831
= 13,831
-3 7,489
= 7,489
202 (44l 3,130 3,130 0
= 1,565
Al 1,565
01 S LHOIYI 3,130 3,130 0
OsXolE&el =& ol 3,130
= 1,565
Al 1,565
o =Y 3YH Lot 1,339,780 1,282,273 57,507
= 39,500
< 2,592
Al 1,297,688




EAN: sS4t
M sMAMEN U SEASH N
Sl B =9 AW A5 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
J2ASHANZ N 67,000 66,943 57
= 33,500
Al 33,500
301 LBt A= 67,000 66,943 57
= 33,500
Al 33,500
11 JIEtE A2 67,000 66,943 57
OF&#EN XEZ(55.7ha) 67,000
= 33,500
Al 33,500
Al AR 6,740 6,740 0
201 LBt | 2,740 2,740 0
01 AP 22| d| 2,740 2,740 0
Ol golseHd 823 &4 =
70,000& x 10Y = 23| 1,400
OHIZANE M8 25 HE S
5,000 * 1000H 500
OH HYBE &8 823 ¢
70,000& * 129 « 13| 840
202 04| 2,000 2,000 0
01 2L HI 2,000 2,000 0
O S EXHQE L 4| 1,000
OAMSMA AR =X 1,000
301 Bt A= 2,000 2,000 0
09 HAIAHI EAZ 2,000 2,000 0
ONFMA=s D= B0 S &1 242
50,000& = 40 2,000
2S5 HES XNIAL 997,500 1,039,500 A 42,000
206 M = Hl 997,500 1,039,500 AN 42,000
01 M =4l 997,500 1,039,500 A 42,000
O=2gsHHl 2 XNEEAY
19,000 * 3,500ha * 30L& * 50% 997,500
jelae= e gl 259,900 156,400 103,500
= 6,000
Al 253,900
201 et 105,000 2,300 102,700
= 3,000
Al 102,000
01 AR 22l ] 105,000 2,300 102,700
Oosd&e HE, =MAHA S 2N 3,000
= 3,000
Ox 2|, JIE23 AME s 2,000
Ol Baie =5 H| 100,000
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3,000
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2N
X ZH -
L= B

el

L
SHAMEN U 52ASH g
Neigs MBH A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

== 12,000
Al 27,000

307 glz2tol & 192,900 0 192,900
= 153,900
= 12,000
Al 27,000

05 RIZHRI &t 3 192,900 0 192,900
Oks gXtel XNJHH =29 192,900
= 153,900
< 12,000
Al 27,000

S 3 LE 7,862,291 7,250,087 612,204
= 1,185,605
Xl 90,000
J| 902,399
< 975,832
Al 4,708,455

HE A =d A3t 3,683,113 3,092,566 590,547
J| 516,600
< 507,593
Al 2,658,920

I=EEr =222 XA 143,200 77,300 65,900
< 42,960
Al 100,240

301 et a s 143,200 77,300 65,900
< 42,960
Al 100,240

MIIEBE4d3 143,200 77,300 65,900
ONEEn =2 X2 NI AEY 143,200
< 42,960
Al 100,240

s A&2edl XN 90,000 60,000 30,000
= 22,500
Al 67,500

402 QI2H X201 M 90,000 60,000 30,000
< 22,500
Al 67,500

02 QI 2 AL EZ(OI X TH ) 90,000 60,000 30,000
OJ=EEas E8=2cd X 90,000
< 22,500
Al 67,500

NEZL HUIAHEH X2 276,000 261,550 14,450
J| 137,000
< 41,100
Al 97,900

202 o4dl 2,000 2,000 0




EAN: sS4t
a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 2L I 2,000 2,000 0
OFUE=XMelAE A BH 04l 2,000
307 QI2t0| ™ 274,000 259,550 14,450
J| 137,000
& 41,100
Al 95,900
02 QI2tAMAIE E =X 274,000 259,550 14,450
Q| at T H| XIS ALS 274,000
J| 137,000
o=t 41,100
Al 95,900
=2 EHUIF X3 274,680 212,000 62,680
Jl 137,340
== 41,202
Al 96,138
402 BI2H X 20| M 274,680 212,000 62,680
Jl 137,340
o= 41,202
Al 96,138
02 QIZEXIEANIS EX (0| XM THL) 274,680 212,000 62,680
OJI=E2L El¥HIg AMAEE XN 156,000
J| 78,000
= 23,400
Al 54,600
OJI=a2k dstHelAlE X 118,680
J| 59,340
& 17,802
Al 41,538
HH| H&X X & 274,700 214,200 60,500
J| 88,400
o 66,300
Al 120,000
402 BI2H X =20l M 274,700 214,200 60,500
J| 88,400
= 66,300
Al 120,000
02 QIZEXIEAISEX (0| MTHL) 274,700 214,200 60,500
O%HIH & XI& 274,700
J| 88,400
& 66,300
Al 120,000
1 Hyegs I X 45,000 0 45,000
402 SI2FXHE0| & 45,000 0 45,000
01 BIZtXIE ALY E X (KM TH ) 45,000 0 45,000
O HHESI| AIBEAY
90,000,000 * 50% 45,000




SN SEAD
My B4 AMY L3
S Jts A1 24 2 e (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SSNHEAE dFHHM2ZH 2 XA 80,000 70,000 10,000
206 M= Hl 80,000 70,000 10,000
01 =8l 80,000 70,000 10,000
OZSSAASAE AdHNZH &
4,000& = 20,000kg 80,000
NHMEFANLE XA 32,500 32,500 0
402 RI2EXt20l 32,500 32,500 0
01 212t 2 AL E = (RERTH ) 32,500 32,500 0
OMMEZAE XA
65,000& * 1,000 =* 50% 32,500
SA E018 X & 80,000 80,000 0
402 QI2H X201 M 80,000 80,000 0
01 Q12 X2 AF 2 2= (REXIXH &) 80,000 80,000 0
OSA &8018 X3 A
400,000 = 400CH = 50% 80,000
SAE G4 AMAE X 30,000 20,000 10,000
402 2I2H X201 M 30,000 20,000 10,000
01 It 2 A B (KM ) 30,000 20,000 10,000
OFAMNE Za AAE X2 A 30,000
JteEeis X XA 7,500 7,500 0
402 RI2EXt20l 7,500 7,500 0
01 212t 2 AL E = (REM ) 7,500 7,500 0
OateEed+ &X XA
1,500,000& * 10CH * 50% 7,500
SAAE EZHE 10,500 10,500 0
< 4,500
Al 6,000
402 BIZEXE0| A 10,500 10,500 0
< 4,500
Al 6,000
02 DIZEXI 2 AL EZ (0l ETHE) 10,500 0 10,500
OFAAIE S FNEAL (HAH2)
1,500,000& » 1000 * 70% 10,500
< 4,500
Al 6,000
IFI=ETHEE 157,000 92,500 64,500
< 37,000
Al 120,000
301 L2 A F 157,000 92,500 64,500
< 37,000
Al 120,000
11IIEtEA S 157,000 92,500 64,500




SN SEAD
My B4 AMY L3
S Jts A1 24 2 e (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONESTHEE A 157,000
< 37,000
Al 120,000
AHATHOHCHEl ROt & D] K& 50,000 50,000 0
402 RIZ2EX20l ™ 50,000 50,000 0
01 RIZE Xt 2 AL E = (REATH &) 50,000 50,000 0
OXATHOH CHEl XOHE&E D] XI& A
25,000,000& = 400 * 50% 50,000
=S4 Mo 22 K& 17,500 9,000 8,500
201 Let24E] 4,000 3,000 1,000
01 At 2t 2l 4,000 3,000 1,000
OMdll Set=ot dxts NJ 500,0008 * 83l 4,000
206 = Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
OMol Z&t=0t 2l MHEHl X&
1,000,000 = 63l 6,000
402 RIZ2ER20l ™ 7,500 0 7,500
01 It Xt 2 AL E = (REA &) 7,500 0 7,500
OctZIl 28 Mol S&=sIt &30 N
300,000& = 50CH = 50% 7,500
NEE sey 84 70,000 71,800 1,800
< 15,000
Al 55,000
307 glz2tol & 70,000 71,800 A 1,800
< 15,000
Al 55,000
02 YAFHAANHEE 70,000 71,800 A 1,800
OstRSEAY 60,000
< 12,000
Al 48,000
OStRM S AL 10,000,000& = 1JH A 10,000
< 3,000
Al 7,000
S OFXI 2 AHOHE AHY 55,000 55,000 0
301 et d s 55,000 55,000 0
NIEEd=s 55,000 55,000 0
OSO0HXI A A OFE ALY 10,000& * 5,5005 55,000
SOtRI M AtY SatArY 17,539 0 17,539
< 5,846
Al 11,693
402 RI2EXt20l ™ 17,539 0 17,539
= 5,846
Al 11,693




SN SEMD
My B4 AMY L3
e JIEs AIEIIBE =4 23 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 CIZEXIEAIS EX (0| XM THL) 17,539 0 17,539
OS0LRIMAA SEA AFS 17,539
= 5,846
Al 11,693
St o2z K& 72,000 72,000 0
307 gizto| A 72,000 72,000 0
02 QI2tAAMAIE E =X 72,000 72,000 0
Ostozsxds X3 AY
40,000 * 4,500 * 40% 72,000
St =80 a2 XS 19,600 9,450 10, 150
& 5,880
Al 13,720
307 giztol A 19,600 9,450 10, 150
& 5,880
Al 13,720
02 QIZ2IA AAIE E X 19,600 9,450 10, 150
Ot =810t ¢z XNIAY 19,600
= 5,880
Al 13,720
St XS A& ALY 18,000 0 18,000
307 QI2t0| ™ 18,000 0 18,000
02 QI2tAAMAIE E =X 18,000 0 18,000
Ot ZXHDONA) 24 AL
30,000 = 1,200% * 50% 18,000
XNE&essq IR AAY 107,500 0 107,500
= 40,000
Al 67,500
402 SI2F 20| & 107,500 0 107,500
= 40,000
Al 67,500
02 CI2ZtXIE A E X (0| & THS) 107,500 0 107,500
ODIME8 LS AIAE AlHAS 107,500
= 40,000
Al 67,500
AEsIF HAH ZAlg 2 K& 82,500 82,500 0
307 212t0| & 82,500 82,500 0
02 QIZEEAAIE E X 82,500 82,500 0
OZ=sI HH A2 2eH A&
30,000& * 5,500€ * 50% 82,500
TASMHAZ AFL2IXHE X 233,280 243,000 AN9,720
J| 77,760
= 38,880
Al 116,640




SA sEA4D
=4

a4 B L
S Jts A1 24 2 e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 233,280 243,000 A9,720
J| 77,760
< 38,880
Al 116,640
02 P HAMHEE 233,280 243,000 N9,720
OZAME A2l X M= K&
60,000& = 4,320& * 90% 233,280
J| 77,760
= 38,880
Al 116,640
TAZSHEAE SH2Y XS 79,000 84,000 A5,000
J| 25,000
< 16,200
Al 37,800
307 glz2tol & 79,000 84,000 A5,000
J| 25,000
< 16,200
Al 37,800
02 It M AHEE 79,000 84,000 A5,000
O=ZME =2 SX7Y X 79,000
J| 25,000
< 16,200
Al 37,800
EANSMAME A KD 60,000 90,000 30,000
J| 15,000
Al 45,000
307 glz2+ol & 60,000 90,000 A 30,000
J| 15,000
Al 45,000
02 HAFHAANEEE 60,000 90,000 230,000
OXAZHLE SHEHeldl X 60,000
J| 15,000
Al 45,000
TAE MY 91,608 94,209 A2,601
< 27,482
Al 64,126
402 RI2HXt20l ™ 91,608 94,209 A 2,601
< 27,482
Al 64,126
02 It 2 AL EZ(OI XM TH ) 91,608 94,209 A 2,601
OXZMNE daEH XA 91,608
< 27,482
Al 64,126
IME A ZH XA 119,400 93,200 26,200
J| 29,850
= 26,865
Al 62,685




SN SEMD
My B4 AMY L3
S Jts A1 24 2 e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 119,400 93,200 26,200
J| 29,850
< 26,865
Al 62,685
02 QI EAILEZ (01X S) 119,400 93,200 26,200
O=ZME BEH ZH XA 119,400
J| 29,850
= 26,865
Al 62,685
MaHEL 22 EZX NJALY 2,450 1,195 1,255
< 700
Al 1,750
402 RIZFR201 A 2,450 1,195 1,255
< 700
Al 1,750
02 DIt 2 AL EZ (01X ) 2,450 1,195 1,255
OMENEL 2EXEEHX 2,450
< 700
Al 1,750
ol =2 EAMSHE 108,000 108,000 0
< 10,000
Al 98,000
301 LA Z 52,100 52,100 0
1MIIEESS 52,100 52,100 0
Odald=I3ELMBUHS &= 52,100
307 glz2tol & 55,900 55,900 0
= 10,000
Al 45,900
04 QIZFHALAIH E = 55,900 55,900 0
OAdNNMIUSAMSUS A 55,900
< 10,000
Al 45,900
MBS AtZ2Hl K&~ 25,500 25,000 500
307 21201 A 25,500 25,000 500
02 LB AAHFEX 25,500 25,000 500
OMSA AtZHl XI&ALS
85,0003 * 505 * 12&  50% 25,500
IMNE SE 22 XS 20,691 23,670 22,979
J| 6,250
< 1,110
Al 13,331
101 @124 dl 20,691 20,070 621
J| 6,250
< 1,110
Al 13,331




SA sEA4D
=4

N2 a3 435
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
04 JI2ZtHIZ2 2 NEES 20,691 20,070 621
OZANE B8 EiIg 3 20,691
-JE2 51,760& * 250 * 19 12,940
J| 6,250
&< 1,110
Al 5,580
-S3&dsd 50,000& = 52 2,600
e PN 50,0008 = 12JH€ 600
= 5,000& = 250 1,250
- 1 ESH| 5,000& * 250& 1,250
-4 B8 2 18,640,000 = 11% 2,051
U 2 25 X 47,720 47,720 0
&< 3,288
Al 44 432
307 2iz2to| A 17,720 17,720 0
< 3,288
Al 14,432
02 QIZFAAAIE E X 17,720 17,720 0
ORASH NHTAY 17,720
o= 3,288
Al 14,432
402 SI2vXHE0| & 30,000 30,000 0
01 QI EANS EXR (M) 30,000 30,000 0]
OXs AFE 2010 XN3AE
15,000,000& * 4CH * 50% 30,000
U "I KR 24,000 24,000 0
= 9,000
Al 15,000
307 QI2t0| ™ 24,000 24,000 0
= 9,000
Al 15,000
02 QI2tAAMAIE E =X 24,000 24,000 0
OY=gdIH XSAS
2,000,000 = 2% « 12&€ * 50% 24,000
= 9,000
Al 15,000
NEE K MA I& 58,000 48,000 10,000
307 giztol A 58,000 48,000 10,000
02 AI2tAAMAIE E =X 58,000 48,000 10,000
OLNEE s MAMIXA 58,000
- 20,000 * 2,00004 * 50% 20,000
—XsH HA S ME=2A
70,000 * 30004 * 50% 10,500

_20_




SN SEAD
My B4 AMY L3
S Jts A1 24 2 e (&
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—ded HAE MEA
40,0003 = 87500 = 50% 17,500
—GtEDJl A AEHA Y FH
10,000& = 2,000kg * 50% 10,000
R M Bz XE 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
02 IZtE S AHE L 30,000 30,000 0
OfK M Hedzg N2 10,000& * 3,000& 30,000
X As AL X 37,500 37,500 0
402 BIZEXHE 0| A 37,500 37,500 0
01 2I2EHEAE B (KM ) 37,500 37,500 0
OHA Xs WHAIAHE X N2
15,000,000& * 5CH * 50% 37,500
8EE 2L dFHMHZ Iz N 75,000 50,000 25,000
206 M= Hl 75,000 50,000 25,000
01 M= 4l 75,000 50,000 25,000
OXEE 2 dHNMZT JIzs NI MG
1,500& = 50,000kg 75,000
2= 3" 23 N2 120,000 120,000 0
402 RI2FXt20| ™ 120,000 120,000 0
01 212t 2 AL E = (REM ) 120,000 120,000 0
OMsdg 2EuA NI AL
400,000& * 1,200 = 25% 120,000
4=l 2 2EXH 36,000 36,000
402 RI2tXt20l ™ 36,000 36,000 0
01 RIZt Xt 2 AL E = (REM &) 36,000 36,000 0
OsdsI 231220 XN
30,000,000& * 30 A * 40% 36,000
HAM= Hel X3 18,000 18,000 0
< 4,500
Al 13,500
402 RIZ2FXt20l ™ 18,000 18,000 0
< 4,500
Al 13,500
02 RIZt Xt 2 AL EZ (01X TS ) 18,000 18,000 0
O HASE Heldl 8XX& 18,000
< 4,500
Al 13,500
SasIE A4 HER i 155,280 96,000 59,280
< 35,280
Al 120,000
301 et A3z 155,280 96,000 59,280
— 21 —




SA sEA4D
=4

g 3y 2t
S Jts A1 24 2 e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 35,280
Al 120,000
11IIEEAS 155,280 96,000 59,280
OF&sIt AFHLX HLAS 155,280
= 35,280
Al 120,000
ASAH PN ALY 30,000 54,000 224,000
= 12,000
Al 18,000
402 RI2tXt20l ™ 30,000 54,000 224,000
< 12,000
Al 18,000
02 2IZt 2 AL EZ (01X TH ) 30,000 54,000 A 24,000
OLsSHY RRMEMLONSEE)
75,000 = 80020 = 50% 30,000
< 12,000
Al 18,000
LY SHAY 48,000 80,000 A 32,000
307 21201 A 48,000 80,000 A 32,000
02 QB LA EX 48,000 80,000 A 32,000
O2d3etd SHAY 48,000
-3= 48,000
g0l &gy M 21,975 35,625 A 13,650
402 RI2EX=20| A 21,975 35,625 A 13,650
01 2IZEt 2 A B (KM ) 21,975 35,625 A 13,650
oXgdol &g 54 21,975
- =238 2YIl 4,200,000& = 301 * 50% 6,300
— ElHl &£ D] 10,450,000& = 3CH * 50% 15,675
=S4y da st 3,000 3,000 0
202 oddl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
O=4g oo, sEM F& 0l 3,000
S5t SAL X835t 21,640 21,297 343
101 @124l 21,640 21,297 343
04 DIt 22 HEE =+ 21,640 21,297 343
O=4S M EX2& =20 21,640
A== 55,000& * 250 13,750
mresgdsE 55,000& * 52 2,860
-2 AZ 55,000& * 7 385
- =AM 5,000& = 250 1,250
— Sl 5,000& = 250 1,250
—-4EER 19,495,000& * 11% 2,145

- 22 -
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